2020 FEHITREHCE (AL KEERAH
ERT B FX S EBEK]
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2020 4, AfAEA= 366 K, FEFEEN 366 K-
He, 3t 1 AEALNEFE 32040 %k B, x5 MEAMK
METFE 25 KA,
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1. BARTRUHEENER

LN E AT R 5 T, €4 pH. COD. & 4. TP.
TN. £ #,C0D 3t 6408 3k, & FH WMk E % 10. 405mg/L,
Bk EHZRAEN 20.921ng/L, &/NEA 1.788mg/L, KAF=R
1 100%. &AL WM 6408 K, F-FH WK E K 0.0887mg/L,
WK E R AMEN 1. 105mg/L, m/MEH 0.014mg/L, KAFE
100%. pH 3£l 6408 &, & A% 8.96, &/NME N 6. 38,
KARE N 100%. TP £ M 6408 k., £ F3HE MK E K
0.146mg/L, Wl& A4 0.203 mg/L, &/MEH 0.013 mg/L,
AARE N 100%. TN 3£ Ml 6408 %k, #£-FH L MEKME R
7.597mg/L, WM EAMEH 12.599 mg/L, &/MEH 1.124 mg/L,
BAFEN 100%.

2. T HRERENER

AELWNESFEY 4 B, BFE4A. RfbEA. 25
KOE.FR.2FHENRER 25 K, AFFHEMNRE ¥
0.028mg/m3, MMEHZE=m=AMEN 0.042 mg/m3, H/PNE K
0.0lmg/m3, IXAFE N 100%., A FF 3 ENKMEH
0.005125mg/m3, MM (E & AEH 0.007 mg/m3, ZHx/NEN
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0.001mg/m3, AARENR 100%. 2R KE S T4 ENHKME S
14. 125mg/m3, WK E R AMEHN 17mg/m3, &/MEH 10mg/m3,
AR A 100%. T e lsE RKE A 0.000207,
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1. &F RAFRMHKE: 153.6666 7 L7 XK

2. BEFEWBEKEFMHARKTIR, FEKEHN 1264. 52
., REWMEEHRRFEE K, AHFREIEHENEE,
LB AAFEREARAS . ARECBEASFHELES
PR B #ATRE .

3 EEELYHHE: COD FHAE 16.06901 "; & A FH
RE 0.13581 *f; KEBEFHKE 0.225646 "h; RASHKE
11. 41255 *f,
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